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Question Number : 1 Question Id : 60348916408 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

............. computers are the smallest computer system.

1. Micro
2 M | rli
3

. Mainframe

o

. Super

Options:

60348961749. 1
60348961750. 2
60348961751. 3

60348961752. 4

Question Number : 2 Question Id : 60348916409 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



cenennenns V@TIADIE is ONe that takes on one of only two possible values when observed or

measured.

1. Continuous

2. Discrete

3. Dichotomous
4. None of these

Options :

60348961753. 1
60348961754. 2
60348961755. 3

60348961756. 4

Question Number : 3 Question Id : 60348916410 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

eeenmeennee 15 @N electronic payment system which enables users to conduct financial

transactions through bank’s website.

1. Internet banking
2. Mobile banking
3. Website banking
4. ATM

Options :

60348961757. 1
60348961758. 2
60348961759. 3

60348961760. 4

Question Number : 4 Question Id : 60348916411 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not an example of financial function?

1. PMT

2. PV

3. FV

4. IF

Options :
60348961761. 1
60348961762. 2
60348961763. 3

60348961764. 4

Question Number : 5 Question Id : 60348916412 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

These first generation computers relied 0N ...

1. Assembly language

2. Machine Language

3. Common Business-oriented Language
4. Algorithmic Language

Options :

60348961765. 1

60348961766. 2

60348961767. 3

60348961768. 4

Question Number : 6 Question Id : 60348916413 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



creesesennnnns 355655 the strength of the linear relationship between a pair of variables.

1. Correlation
2. Regression
3. Both of two
4. None of these

Options :

60348961769. 1
60348961770. 2
60348961771.3

60348961772. 4

Question Number : 7 Question Id : 60348916414 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which out of the following is not true about E-wallets?

1. The popularity of the E-wallets is growing day by day.

2. E-wallets have minimised the dependence on cash.

3. E-wallets are especially very convenient for frequent online shoppers.
4. None of these

Options :

60348961773. 1
60348961774. 2
60348961775. 3
60348961776. 4

Question Number : 8 Question Id : 60348916415 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which out the following is not a feature of sole proprietorship?

1. It is simple to establish.

2. It is controlled and managed by sole person

3. Scope of raising finances is high

4. Decision making is quick as it involves no partners

Options :

60348961777. 1
60348961778. 2
60348961779. 3

60348961780. 4

Question Number : 9 Question Id : 60348916416 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a benefit of having computers?

1. High speed

2. Multitasking

3. Storage

4. Improved health

Options :

60348961781. 1
60348961782. 2
60348961783. 3

60348961784. 4

Question Number : 10 Question Id : 60348916417 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What are the steps to make a read only document?

1. Go to the File tab = Info > Protect Document > Mark as Final.
2. Go to the insert tab = Info > Protect Document > Mark as Final.
3. Go to the File tab > Info > Change Document > Mark as Final.
4. Go to the insert tab > Info > Change Document > Mark as Final.

Options :

60348961785. 1
60348961786. 2
60348961787. 3
60348961788. 4

Question Number : 11 Question Id : 60348916418 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

eeeemneneenes 15 @ pre-structured or pre-defined formula that can calculate certain results using
the selected specific values.

1. Function

2. Calculation

3. Output

4. Array formula

Options :

60348961789. 1
60348961790. 2
60348961791. 3

60348961792. 4

Question Number : 12 Question Id : 60348916419 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not an advantage of computer network?

1. Overcoming geographical distance
2. Allowing information sharing

3. Supporting distributed processing
4. None of these

Options :

60348961793. 1
60348961794. 2
60348961795. 3

60348961796. 4

Question Number : 13 Question Id : 60348916420 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

............... represents raw facts, whereas................is data made meaningful.

1. Information, reporting
2. Data, information

3. Information, bits

4. Records, bytes

Options :

60348961797. 1
60348961798. 2
60348961799. 3

60348961800. 4

Question Number : 14 Question Id : 60348916421 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which out of the following is not a categorization of business on the basis of ownership?

1. Privately owned
2. Not for profit
3. State owned

4. Central owned

Options :

60348961801. 1
60348961802. 2
60348961803. 3
60348961804. 4

Question Number : 15 Question Id : 60348916422 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Syntax for MOD( ) function is:

1. MOD (number, divisor)
2. MOD (divisor, number)
3. MOD (number, divider)
4, MOD (divider, number)

Options :

60348961805. 1
60348961806. 2
60348961807. 3

60348961808. 4

Question Number : 16 Question Id : 60348916423 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



cernenenenee 15 @150 called the machinery or the equipment of the computer.

1. Software

2. Hardware

3. Motherboard
4. CPU

Options :

60348961809. 1
60348961810. 2
60348961811. 3
60348961812. 4

Question Number : 17 Question Id : 60348916424 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A Microsoft Word watermark is a useful visual indicator for the status of the document.

1. Header
2. Footer
3. Watermark
4. Placeholder

Options :

60348961813. 1
60348961814. 2
60348961815. 3

60348961816. 4

Question Number : 18 Question Id : 60348916425 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



sereeeneeees @€ Chains of nodes linked by communication channels.

1. Computer networks
2. Computer programs
3. Computer updates
4. Windows

Options :
60348961817. 1
60348961818. 2
60348961819. 3

60348961820. 4

Question Number : 19 Question Id : 60348916426 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ceenmenneneee 15 @ Web-based application just like PowerPoint which helps you in making
presentations.

1. Google Doc
2. Google slide
3. Google cloud
4. Google form

Options :

60348961821. 1
60348961822. 2
60348961823. 3

60348961824. 4

Question Number : 20 Question Id : 60348916427 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



cennneeennnee 15 DASICANlY 2 series of several Local Area Networks (LAN) linked to create a

greater network.

1. Wide Area Network (WAN)

2. Metropolitan Area Networks (MAN)
3. Home Area Network (HAN)

4. Personal Area Networks (PAN)

Options :

60348961825. 1
60348961826. 2
60348961827. 3

60348961828. 4

Question Number : 21 Question Id : 60348916428 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

File storage is also called file-level or file-based storage that stores datain a ................

structure.

1. Hierarchical

2. Non-hierarchical
3.Both1&2

4. None of these

Options :

60348961829. 1
60348961830. 2
60348961831. 3
60348961832. 4

Question Number : 22 Question Id : 60348916429 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



An office ............. is & piece of document or a note that is a common source of information in

a workplace regarding important notices or announcements.

1. Memo
2. Project
3. Report
4. Card

Options :

60348961833. 1
60348961834. 2
60348961835. 3
60348961836. 4

Question Number : 23 Question Id : 60348916430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

BIS stands for ....ceeeeee.n.

1. Business Information System
2. Business Internet System

3. Business Information Structure
4. Business internet Structure
Options :

60348961837. 1

60348961838. 2

60348961839. 3

60348961840. 4

Question Number : 24 Question Id : 60348916431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



coeeenennes 15 SPECIAl application software designed to enable the users to view and read

hypertext documents.

1. HTTP

2. HTML

3. Web Browser
4. IP Address

Options :

60348961841. 1
60348961842. 2
60348961843. 3

60348961844. 4

Question Number : 25 Question Id : 60348916432 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not true about the report writing?

1. It is important to understand why we are writing this report.

2. It is not important to evaluate the audience.

3. It is important to answer what and why of writing the report.

4. It is obvious to have a thorough knowledge of the topic for which you are writing the
report.

Options :

60348961845. 1

60348961846. 2

60348961847. 3

60348961848. 4

Question Number : 26 Question Id : 60348916433 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Malicious software is known as:

1. Badware

2. Malware

3. Malicious Ware
4. lllegalwa
Options :
60348961849. 1
60348961850. 2
60348961851. 3

60348961852. 4

Question Number : 27 Question Id : 60348916434 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

World Wide Web (WWW) was created in which year?

1. 1969
2. 1979
3. 1989
4. 1999
Options :

60348961853. 1
60348961854. 2
60348961855. 3
60348961856. 4

Question Number : 28 Question Id : 60348916435 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A .....is alist of all of the sources used (whether referenced or not) in the process of

researching the work.

1. Placeholder
2. Bibliography
3. Bookmark
4. Tracking

Options :

60348961857. 1
60348961858. 2
60348961859. 3

60348961860. 4

Question Number : 29 Question Id : 60348916436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

DPR stands for...........

1. Detailed Personal Report

2. Distributed Personal Report
3. Detailed Project Report

4. Distributed Project Report

Options :

60348961861. 1
60348961862. 2
60348961863. 3
60348961864. 4

Question Number : 30 Question Id : 60348916437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which out of the following is not true about OTP?

1. It stands for Once Time Password

2. It is a numeric or alphanumeric automatic generated string
3. It is more secure than a static password

4. It is received on registered mobile number of the user

Options :

60348961865. 1
60348961866. 2
60348961867. 3
60348961868. 4

Question Number : 31 Question Id : 60348916438 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Excel, a series of two or more adjacent cells in a column or row is called a/an:

1. Range

2. Column

3. 3-D formula
4. IF statement

Options :

60348961869. 1
60348961870. 2
60348961871. 3

60348961872. 4

Question Number : 32 Question Id : 60348916439 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which out of the following is not an example of a web browser?

1. Chrome
2. Firefox
3. Android
4. Safari

Options :

60348961873. 1
60348961874. 2
60348961875. 3

60348961876. 4

Question Number : 33 Question Id : 60348916440 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

eeeeeeeeneee idENtifies a location or to identify for future reference.

1. Tracking

2. Bookmark

3. Reference

4. Cross reference

Options :

60348961877. 1
60348961878. 2
60348961879. 3

60348961880. 4

Question Number : 34 Question Id : 60348916441 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not a feature of multimedia?

1. Interactive

2. Deeper sympathetic

3. Multi-Sensory

4. Fragmented technology

Options :

60348961881. 1
60348961882. 2
60348961883. 3
60348961884. 4

Question Number : 35 Question Id : 60348916442 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which out of the following doesn't fall into the category of E-payment mode/system?

1. Digital wallets

2. Aadhar Enabled Payment Service (AEPS)
3. Internet banking

4. Online Information Gathering

Options :

60348961885. 1
60348961886. 2
60348961887. 3

60348961888. 4

Question Number : 36 Question Id : 60348916443 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



eeeenenennnne 1€ limited to a single building like an official establishment and covers a

defined area.

1. Wide Area Network (WAN)
2. Metropolitan Area Networks (MAN)
3. Home Area Network (HAN)
4. Local Area Networks (LAN)

Options :

60348961889. 1
60348961890. 2
60348961891. 3
60348961892. 4

Question Number : 37 Question Id : 60348916444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the benefit of computers in organisation?

1. Budgeting

2. Bookkeeping
3. Inconvenience
4. Data storage

Options :

60348961893. 1
60348961894. 2
60348961895. 3

60348961896. 4

Question Number : 38 Question Id : 60348916445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not a protocol of E-mail?

1. SMTP

2. IMAP

3. POP

4. RTG5
Options :
60348961897. 1
60348961898. 2
60348961899. 3

60348961900. 4

Question Number : 39 Question Id : 60348916446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a component of mail merge?

1. Main document
2. Data source
3. Form letter
4. Common letter

Options :

60348961901. 1
60348961902. 2
60348961903. 3

60348961904. 4

Question Number : 40 Question Id : 60348916447 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What is the shortcut key for UNDO?

1. Ctrl+5S

2. Ctrl+X

3. Ctrl+Y

4. Ctrl+Z
Options :
60348961905. 1
60348961906. 2
60348961907. 3

60348961908. 4

Question Number : 41 Question Id : 60348916448 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is the correct option to insert common equation in MS word?

1. Equation maker
2. Equation editor
3. Editing equation
4. None of these
Options :
60348961909. 1
60348961910. 2
60348961911. 3

60348961912. 4

Question Number : 42 Question Id : 60348916449 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which option to use to review the letters created?

1. View

2. Praview

3. Record

4. Print
Options :
60348961913. 1
60348961914. 2
60348961915. 3

60348961916. 4

Question Number : 43 Question Id : 60348916450 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ......cccccennenee. button will suggest other words with similar meaning word you have

highlighted in the MS word.

1. Dictionary

2. Thesaurus

3. Synonym

4. Antonym
Options :
60348961917. 1
60348961918. 2
60348961919. 3

60348961920. 4

Question Number : 44 Question Id : 60348916451 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Software consists of features that are responsible for directing the tasks to the ...

1. Operating system

2. Hardware

3. Central Processing Unit (CPU)
4. All of these

Options :

60348961921. 1
60348961922. 2
60348961923. 3
60348961924. 4

Question Number : 45 Question Id : 60348916452 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

¢ conmeenmmenmnennnee 15 the et of rules for specifying how to route information by attaching
addresses onto the data sent by it.

1. Protocol

2. Packet Routing Network
3. Internet Protocol

4. Transport Control Protocol

Options :

60348961925. 1
60348961926. 2
60348961927. 3

60348961928. 4

Question Number : 46 Question Id : 60348916453 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The basic goal of computer process is to convert data into:

1. Graphs

2. Files

3. Tables

4. Information

Options :

60348961929. 1
60348961930. 2
60348961931. 3
60348961932. 4

Question Number : 47 Question Id : 60348916454 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

eeeemneneenns 15 @ UNIQUe seven-digit number provided by the banks to the customers who have

registered their mobile number with the bank.

1. MMID

2. NEFT

3. RTGS

4. UPI

Options :
60348961933. 1
60348961934. 2
60348961935. 3

60348961936. 4

Question Number : 48 Question Id : 60348916455 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the followings is an example of text function?

1. CONCATEMNATE
2. IF

3. DATE

4. TIME

Options :
60348961937. 1
60348961938. 2
60348961939. 3

60348961940. 4

Question Number : 49 Question Id : 60348916456 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The ... tab has commands like Save As, New, Print, etc.

1. File

2. Insert

3. Page layout
4. Reference
Options :
60348961941. 1
60348961942. 2
60348961943. 3

60348961944. 4

Question Number : 50 Question Id : 60348916457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ereeeenenes 15 The running force behind many business information systems.

1. Data

2. Input

3. Output
4. Hardware

Options :

60348961945. 1
60348961946. 2
60348961947. 3

60348961948. 4

Question Number : 51 Question Id : 60348916458 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SUM, COUNT, MAX, and MIN are examples of in a spreadsheet program.

1. Formulas

2. Functions

3. Queries

4 Values
Options :
60348961949. 1
60348961950. 2
60348961951. 3

60348961952. 4

Question Number : 52 Question Id : 60348916459 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Header appears on the .............. of the page

1. Top

2. Middle

3. Bottom

4, All of these

Options :

60348961953. 1
60348961954. 2
60348961955. 3

60348961956. 4

Question Number : 53 Question Id : 60348916460 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

... acts as an intermediary between the computer system and software applications.

1. Application Software
2. System Software

3. Hardware

4. Operating System
Options :
60348961957. 1
60348961958. 2
60348961959. 3

60348961960. 4

Question Number : 54 Question Id : 60348916461 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



creueseeeeenne @VAILADIE in MS scroll through the document up and down or left and right.

1. Status Bar
2. Scroll Bar
3. Title Bar
4. Ruler

Options :

60348961961. 1
60348961962. 2
60348961963. 3
60348961964. 4

Question Number : 55 Question Id : 60348916462 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When using a spreadsheet program, rows in a worksheet are labeled with:

1. Gridlines
2. Letters
3. Numbers
4. Titles

Options :

60348961965. 1
60348961966. 2
60348961967. 3

60348961968. 4

Question Number : 56 Question Id : 60348916463 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT a language processor:

1. Compiler

2. Organizer
3. Interpreter
4. Assembler

Options :

60348961969. 1
60348961970. 2
60348961971. 3
60348961972. 4

Question Number : 57 Question Id : 60348916464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Excel, formulas are created by preceding them with:

1. A minus sign
2. A plus sign

3. An equal sign
4. A parentheses

Options :

60348961973. 1
60348961974. 2
60348961975. 3

60348961976. 4

Question Number : 58 Question Id : 60348916465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Basic purpose of operating system are:

1. It works as an interface between the user and the computer hardware
2. It manages the computer’s resources

3. It increases the efficiency of system’s resources

4. All of these

Options :

60348961977. 1
60348961978. 2
60348961979. 3
60348961980. 4

Question Number : 59 Question Id : 60348916466 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Internal Rate of Return is a rate at which the Net Present Value of both the kinds of cash flows
(inflow and outflow) equals to ...............

1.1

2. -1

3. Zero

4. None of these

Options :

60348961981. 1
60348961982. 2
60348961983. 3

60348961984. 4

Question Number : 60 Question Id : 60348916467 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not an attribute of word processing?

1. Allows content modification without retyping the whole document
2. The page margins can be set for the page as per the need

3. The Sell-Check feature can be used to check spellings

4. The documents can not be merged

Options :

60348961985. 1
60348961986. 2
60348961987. 3
60348961988. 4

Question Number : 61 Question Id : 60348916468 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A business presentation must be:

1. Demotivating
2. Uninspiring

3. Appealing

4. None of these

Options :

60348961989. 1
60348961990. 2
60348961991. 3

60348961992. 4

Question Number : 62 Question Id : 60348916469 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT a type of privacy of YouTube playlist?

1. Public
2. Private
3. Listed
4. Unlisted

Options :

60348961993. 1
60348961994. 2
60348961995. 3
60348961996. 4

Question Number : 63 Question Id : 60348916470 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the most common tool used to restrict access to a computer system?

1. User logins

2. Passwords

3. Computer keys

4. Access-control software

Options :

60348961997. 1
60348961998. 2
60348961999. 3

60348962000. 4

Question Number : 64 Question Id : 60348916471 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following in not a type of business presentation?

1. Group presentation

2. Persuasive presentation
3. Informative presentation
4. Connecting presentation

Options :

60348962001. 1
60348962002. 2
60348962003. 3
60348962004. 4

Question Number : 65 Question Id : 60348916472 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

cenneeemnene AFE the merchant-specific wallets and can be used for transactions exclusively at the
issuing merchant sites.

1. Open wallets

2. Semi-closed wallets
3. Closed wallets

4, All of these

Options :

60348962005. 1
60348962006. 2
60348962007. 3

60348962008. 4

Question Number : 66 Question Id : 60348916473 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ctrl, shift and alt are called keys.

1. Adjustment

2. Alphanumeric
3. Function

4. Madifier
Options :
60348962009. 1
60348962010. 2
60348962011. 3

60348962012. 4

Question Number : 67 Question Id : 60348916474 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

eenmmeennnnee USES Mltiple central processors to serve multiple users with multiple real time

applications.

1. Batch Operating System

2. Real time Operating System

3. Distributed Operating System
4. Time sharing Operating System
Options :

60348962013. 1
60348962014. 2
60348962015. 3

60348962016. 4

Question Number : 68 Question Id : 60348916475 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The easiest way to create a multimedia presentation is in

1. Microsoft Word

2. Microscft PowerPoint
3. Notepad

4. Google Doc

Options :

60348962017. 1
60348962018. 2
60348962019. 3
60348962020. 4

Question Number : 69 Question Id : 60348916476 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Windows is the operating system by.............

1. Google Inc.

2. Android Inc.
3. Apple Inc.

4. Microsoft Inc.
Options :
60348962021. 1
60348962022. 2
60348962023. 3

60348962024. 4

Question Number : 70 Question Id : 60348916477 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



cermnnnnenee 19 The process of designing, drawing, making layouts and preparation of
photographic sequences.

1. Multimedia

2. Presentation
3. Animation

4. Report Writing

Options :

60348962025. 1
60348962026. 2
60348962027. 3

60348962028. 4

Question Number : 71 Question Id : 60348916478 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

eeeenmnnnenee @€ the software available for the public at large and are made keeping in

mind the basic needs of end-users.

1. Public Domain Software

2. Customized and Tailor-made
3. Ready to use Software

4, Pre-written Software

Options :

603489620209. 1
60348962030. 2
60348962031. 3
60348962032. 4

Question Number : 72 Question Id : 60348916479 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



An intentionally disruptive program that spreads from program to program or from disk to
disk is known as a:

1. Trojan horse

2. Virus

3. Time bomb

4. Time-related bomb sequence

Options :

60348962033. 1
60348962034. 2
60348962035. 3
60348962036. 4

Question Number : 73 Question Id : 60348916480 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Arrange in ascending order the units of memory TB, KB, GB, MB:

1. TB>MB>GB=>KB
2. MB>GB>TB=>KB
3. TB>GB>MB=>KB
4 GB>MB=KB>TB

Options :

60348962037. 1
60348962038. 2
60348962039. 3
60348962040. 4

Question Number : 74 Question Id : 60348916481 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The most frequently used tools/button can be stored in the ...........ccco........ Of the MS word.

1. Status bar

2. Quick access tool bar
3. Workspace

4. Ribbon

Options :

60348962041. 1
60348962042. 2
60348962043. 3

60348962044. 4

Question Number : 75 Question Id : 60348916482 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Personal computers can be connected together to form a:

1. Enterprise

2. Network

3. Supercomputer
4. Server

Options :

60348962045. 1
60348962046. 2
60348962047. 3
60348962048. 4

Question Number : 76 Question Id : 60348916483 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In spreadsheet horizontal line for entering data is called

1. Array

2. Row

3. Column
4. Pivot

Options :

60348962049. 1
60348962050. 2
60348962051. 3

60348962052. 4

Question Number : 77 Question Id : 60348916484 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The 's' in HTTPs stand for:

1. Server
2. Service
3. Secure
4, Semantic

Options :

60348962053. 1
60348962054. 2
60348962055. 3

60348962056. 4

Question Number : 78 Question Id : 60348916485 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Language processor is used for translating the programmer’s ............. into a form that can be
interpreted and executed by a computer system.

1. Data

2. Details

3. Instructions

4. History
Options :
60348962057. 1
60348962058. 2
60348962059. 3

60348962060. 4

Question Number : 79 Question Id : 60348916486 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the shortcut key for spell checker?

1. F7

2. F8

3. Shift + S
4.Ctrl + 5
Options :
60348962061. 1
60348962062. 2
60348962063. 3

60348962064. 4

Question Number : 80 Question Id : 60348916487 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



To transfer electronic mail from one machine to another, the following TCP/IP protocol is

used:

1. RPC
2. FTP
3. SNMP
4. SMTP

Options :

60348962065. 1
60348962066. 2
60348962067. 3
60348962068. 4

Question Number : 81 Question Id : 60348916488 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a type of text alignment in MS-word?

1. Right alignment
2. Left alignment
3. High alignment
4. Justification
Options :
60348962069. 1
60348962070. 2
60348962071. 3

60348962072. 4

Question Number : 82 Question Id : 60348916489 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In virtual reality cyberspace is made up of many thousands of gemetric objects plotted in

space.

1. One dimensional
2. Two dimensional
3. Three dimensional
4. Four dimensional

Options :

60348962073. 1
60348962074. 2
60348962075. 3
60348962076. 4

Question Number : 83 Question Id : 60348916490 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A hypothesis is defined as a tentative prediction or explanation of the relationship between

two or more variables:

1. Methodology
2. Bibliography
3. Hypothesis
4. Citation

Options :

60348962077. 1
60348962078. 2
60348962079. 3

60348962080. 4

Question Number : 84 Question Id : 60348916491 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The .......ceuu...... feature of MS Word is basically used to beautify the text.

1. Text Art

2. Word Art

3. Text shape
4. Word shape

Options :

60348962081. 1
60348962082. 2
60348962083. 3
60348962084. 4

Question Number : 85 Question Id : 60348916492 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ....occoveevenreennne 1S USEd to remove the virus from system and network of business
organizations.

1. Firewall

2. Complex password
3. Antivirus

4. Biometric
Options :
60348962085. 1
60348962086. 2
60348962087. 3

60348962088. 4

Question Number : 86 Question Id : 60348916493 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ceneneneenss 15 USEd 10 UNiquely identify user of a system as well as application that is running

in the system.

1. Confidentiality
2. Integrity

3. Identification

4. Availability
Options :
60348962089. 1
60348962090. 2
60348962091. 3

60348962092. 4

Question Number : 87 Question Id : 60348916494 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the Odd one:

1. Operating system
2. Interpreter

3. Compiler

4. Assembler

Options :

60348962093. 1
60348962094. 2
60348962095. 3
60348962096. 4

Question Number : 88 Question Id : 60348916495 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A web page is:

1. Made up of text and HTML tags

2. Marked by an opening HTML tag <HTML>
3. Marked by a closing HTML tag </HTML=>
4. All of these

Options :

60348962097. 1
60348962098. 2
60348962099. 3

60348962100. 4

Question Number : 89 Question Id : 60348916496 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When a file is saved for the first time:

. @ copy is automatically printed
. it must be given a name to identify it
. it does not need a name

PO

. it only needs a name if it is not going to be printed

Options :

60348962101. 1
60348962102. 2
60348962103. 3

60348962104. 4

Question Number : 90 Question Id : 60348916497 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What is the shortcut key for page break?

1. Ctri+Enter

2. Ctrl+insert

3. Ctri+Alt

4. Ctrl+shift
Options :
60348962105. 1
60348962106. 2
60348962107. 3

60348962108. 4

Question Number : 91 Question Id : 60348916498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

First page of Website is termed as:

1. Homepage

2. Index

3. JAVA script

4. Bookmark
Options :
60348962109. 1
60348962110. 2
60348962111. 3

60348962112. 4

Question Number : 92 Question Id : 60348916499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following tab is not available on menu bar?

1. Home
2. Insert
3. Layout
4. SmartArt

Options :

60348962113. 1
60348962114. 2
60348962115. 3

60348962116. 4

Question Number : 93 Question Id : 60348916500 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

—————— is defined as any crime completed through the use of computer technology.

1. Computer forensics
2. Computer crime

3. Hacking

4. Cracking

Options :
60348962117. 1
60348962118. 2
60348962119. 3

60348962120. 4

Question Number : 94 Question Id : 60348916501 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



conmennnenn 15 USEA 1o highlight interesting cells, visualize data bars, color scales and icon sets
based on criteria.

1. Indenting

2. Conditional Formatting
3. Orientation

4. Styles

Options :

60348962121. 1
60348962122. 2
60348962123.3
60348962124. 4

Question Number : 95 Question Id : 60348916502 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which technology is used to hide information inside a picture?

1. The Root kits

2. The Bitmapping

3. The Steganography
4. The Image processing
Options :
60348962125. 1
60348962126. 2
60348962127. 3

60348962128. 4

Question Number : 96 Question Id : 60348916503 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



------ refers to electronic trespassing or criminal hacking.

1. Cracking
2. Jacking

3. Spoofing
4. Smarming

Options :

60348962129. 1
60348962130. 2
60348962131.3
60348962132. 4

Question Number : 97 Question Id : 60348916504 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In analogue computer:

1. Input is first converted to digital form
2. Input is never converted to digital form
3. Output is displayed in digital form

4. All of above

Options :

60348962133. 1

60348962134. 2

60348962135. 3

60348962136. 4

Question Number : 98 Question Id : 60348916505 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FOr..ovsvenrernranenne. CybET Criminals illegally acquire credentials of innocent users and use these

credentials to do online cybercrime.

1. Identity crime
2. |dentity theft
3. Information crime
4. Information theft

Options :

60348962137. 1
60348962138. 2
60348962139. 3
60348962140. 4

Question Number : 99 Question Id : 60348916506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which out of the followings is not a main principle of cyber security?

1. Confidentiality
2. Integrity

3. Truthfulness

4. Availability
Options :
60348962141. 1
60348962142. 2
60348962143. 3

60348962144. 4

Question Number : 100 Question Id : 60348916507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A database system consists of?

1. Data Base

2. Data Base Management System
3. Both of two

4. None of two

Options :

60348962145. 1
60348962146. 2
60348962147. 3

60348962148. 4



